Geometry Unit 2 Review Packet 
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Hint: This is a tricky problem! Consider the range of possible values for the side length. Then take the smallest possible length and set it equal to 3x-6, and do the same for the largest length. 

[bookmark: _GoBack]Hint: You can consider how the side length is related to the size of the angle to determine the limit for the largest possible length. 
image6.png
33. Which conclusion can be drawn from the given facts in the diagram?
A. TQ bisects 2PTS

£TQS = £RQS

PT = RS

TS = PQ

T aF
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34. Inthe figure £H = 2L and HJ = JL. Which of the following statements is about
congruence is true?

A. AHIJ = ALK] by ASA ! K
B. AHIJ = AKLJ by SSS

C. AHIJ = AKL] by SAS J

D. AHIJ = ALK] by SAS
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35. Refer To the figure to complete the congruence statement, AABC =
A.

B
C.
D

AACE
AEDC
AEAD
AEDA

B,

D
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36. Which theorem can be used to conclude that ACAB = ACED?
A. SAA B

SAS

SSS

SN
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38. Determine which postulate or theorem can be used to prove the pair of triangles
congruent.
A. AAS

B. SAS
C. ASA
D. SSS
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39. Which of the following sets of triangles can be proved congruent using the AAS
Theorem?

NENETN
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40. Given AMNP, Anna is proving ms1 + ms2 = m«4. Which statement should be part of
her proof?

A. mzs1=mz2
B. ms1=m«3

C. mz1+ me3 =180°

D. m«3 +ms4 = 180° M P
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For #41-42 use the following: M Y v
Given: Q is the midpoint of MN; ZMQP = £NQP
Prove: AMQP = ANQP

P

Statements Reasons

Q is the midpoint of MN; LMQP = £NQP | Given

41. Definition of Midpoint

£MQP = £LNQP Given

QP = QP Reflexive property of congruence
AMQP = ANQP 4.
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41. Choose one of the following to complete the proof.
A. MN = QP

B
C. MpP =NP
D

42. Choose one of the following to complete the proof.
A. Reflexive property of equality
B. SSA Congruence
C. SAS Congruence
D. AAS Congruence
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44. If a triangle has two sides with lengths of 8 cm and 14 cm. Which length below could
not represent the length of the third side?
A. 7cm C. 15cm

B. 13 cm D. 22cm
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45.

Find the range of values containing x.

A.

B
C.
D

2<x<5
x<5
0<x<9
x>0





image1.png
13. Copy the figure below. Calculate the measure of each lettered angle.
1A 4

¢ [ {,and ¢, [ ¢, / 7
(< J
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13. In the figure, n£ZABC = m£ACB = x. Find
the m<EAB in terms of x.

A. 180 —2x
B. 2x

C. x

D. x+90
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30. Which of the following is true?
A. All triangles are congruent.
B. All congruent figures have three sides.

C. Iftwo figures are congruent, there must be some sequence of rigid motions that
maps one to the other.

D. Iftwo triangles are congruent, then they must be right triangles.
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31. IfACED = AQRP, which of the following is true?

A.

B
C.
D

£C = £Q,LE = LR, 2D = £P
2C = £Q,LE = £P,2D = /R
£C = £P,LE = /R, 2D = £Q

2C = /R, LE = £Q,2D = 2P
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32. In the figure £ZGAE = £LOD and AE = DO. What information is needed to prove that
AAGE = AOLD by SAS?

A. GE=1D
B. 4G =0L
C. ¢ZAGE = +0LD
D. ZAEG = +0DL

D

[0
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